0000000 (MTH.B212)

6: 0000

ooooo
kotaro@math.titech.ac. jp
www.math.titech.ac.jp/~kotaro/class/2020/geom-2/

oooOoOoODODODObODOOD

20210 010 210

ogd

> OJ00oooooooooooboooooo

> J00000DO0O000DO0ODOO0OOODO 2500000
ooobooooo

> JO00000DO0O000ODObObOODO
pcrteststudent@jim.titech.ac.jp 00000000
https://www.titech.ac.jp/enrolled/news/2020/048264.html OO

> JO00000DO0O000ODObObOODO
gooooobooodooooooooooooooooo

> O0000o0o00000000b0o0oo0000n
oooooooooooon

2021/01/21

gbooopoooobd

010070 10:40 | B85

01007 0| 13:00 | 8E-E8HE888835-URLEBE5H5F2SCHOLAH

01016 0| 23:59 | 885885885885 GeogleFormsH

010210 10:00 | BEHABHE88PBFEEHF2SCHOLAY

01021 0] 10:00 | BH-BH8EF2SCHOLAD

010230(23:59 | 00 0ODO0OOT2SCHOLADO

010270| 10:00 | OO OO PDFO OO T2SCHOLAO

010280| 10:35 | Zoom O O

010280| 1045 | OO0 AOOPWOOODOOOOO
000 AOOO0O0OO0O0O0
11:30 | 000 ADOOO0O0O0OT2SCHOLAO

010280|11:40 | OO0 BOOPWODOODOOODDO
000 BOOOODO Google FormsO
1220 | 000 BOOOODOD O Google FormsO

> 00000000 T2SCHOLAOOOOOOoOoOoooooo
> O000000000CO000O0DOOOOO00OO0OO

gogooooo

» 0000000000000 00000 A(,) D00D0DOO
000000000 Az 0o00ooooooooooog
00000000000 z=0,1,2,...,1000000 A(z)
ooooooooooooo oooooooo ooo

> Q00000000000 0O0COOO0OO0O0O00O0O0BO

oooooooooz200000000000000000
ooooo 00000000 Thanks. 0000000

2021/01/21

goog

> OJO00000bO00ooobobobooboobooonog

> JO000D0DO00ooooooooog
https://www.ks-fdcenter.net/fmane_titech/Ans?ms=
t&id=titech&cd=RYKB4sDL
QU0 0000000 OUoooo 11o0ooo0o0ooon
goooooooo

> O01020000000000000000000O00
poooooooOo0oooooobOoO0OO0O0O0OooBo

2021/01/21

ggooooooo

> O00000000C0O00000O00O00000O0DOO0O0000
Jj00000oooooooooooag
goooooo0oooooooooooOooboobooooDboobo
goooooooooooooooo
gooooboooooooooooooboboOoooobooboo
goooo
> 0000000000000 DbOoo0ooDn
> 000000000000000000000O0000O0
O0b0O0oO0O0A:0000000000O00O0OO0OO0
> 00000000000D0000B0000
A: 0000 T2SCHOLAD OO web DOOOOOOOOOO
goo0oooooooooOoooOoO0oooooooo
> 000000000000O00000
A:000000000O00O00O0O0O00OO0
gooooooOoO0ooooooOoOoooo
ooo00ooO000o0000o0O000b0000000000

2021/01/21

googn

00 0POOODOOUOOOOODOOOOOOO
0000 C:[0,1] x[0,1] = U O C(0,£) = c(t),
C(1,H)=PO0D00000 0000000000

00 0POOOOODUOOOO 000000000
0000 C:[0,1]x[0,1] = U O C(0,8) = c(t),
C(1,t) =P, C(s,0)=C(s,1)=t00000000
00000000

5/1 2021/01/21 6/1

gooon




